



Naam: _____

Datum: _____ Score: _____

$$(-7)^2 + (-2) =$$

$$(-7) + (-10) =$$

$$(-10)^2 + (-2) =$$

$$10 + 9 =$$

$$3 - (-9) =$$

$$4^{(-2)} - (-2) =$$

$$4^2 - 8 =$$

$$6^2 - (-3) =$$

$$(-7)^{(-1)} + 9 =$$

$$(-10)^{(-2)} + (-1) =$$

$$2^{(-1)} + 9 =$$

$$8^{(-2)} + 8 =$$

$$4^2 + 10 =$$

$$8^{(-1)} - (-10) =$$

$$2 - 5 =$$

$$6^{(-1)} + 9 =$$

$$(-8)^{(-1)} + 3 =$$

$$(-10)^{(-2)} + 6 =$$

$$(-7)^0 - 1 =$$

$$2 + 4 =$$



Naam: _____

Datum: _____ Score: _____

$$(-7)^2 + (-2) = 47$$

$$(-7) + (-10) = (-17)$$

$$(-10)^2 + (-2) = 98$$

$$10 + 9 = 19$$

$$3 - (-9) = 12$$

$$4^{(-2)} - (-2) = \frac{33}{16} = 2\frac{1}{16}$$

$$4^2 - 8 = 8$$

$$6^2 - (-3) = 39$$

$$(-7)^{(-1)} + 9 = \frac{62}{7} = 8\frac{6}{7}$$

$$(-10)^{(-2)} + (-1) = (-\frac{99}{100})$$

$$2^{(-1)} + 9 = \frac{19}{2} = 9\frac{1}{2}$$

$$8^{(-2)} + 8 = \frac{513}{64} = 8\frac{1}{64}$$

$$4^2 + 10 = 26$$

$$8^{(-1)} - (-10) = \frac{81}{8} = 10\frac{1}{8}$$

$$2 - 5 = (-3)$$

$$6^{(-1)} + 9 = \frac{55}{6} = 9\frac{1}{6}$$

$$(-8)^{(-1)} + 3 = \frac{23}{8} = 2\frac{7}{8}$$

$$(-10)^{(-2)} + 6 = \frac{601}{100} = 6\frac{1}{100}$$

$$(-7)^0 - 1 = 0$$

$$2 + 4 = 6$$